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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Answer all questions. Each question carries one mark. (40x1=40)
AR, TZNEI), YSOA. ,303R0T T, B 1§ .00 ¢508.
1. What kind of an asset is goodwill as per the Indian accounting standards ?

a) Fictitious asset b) Intangible asset
c) Current asset d) Fixed asset
Q0RO BT0LION® T OWE'F 5T 03N 3edF BPO,T QFTNT ?
a) 398 3 b) ©RTF A2
C) oY d) A0 &3
2. One rupee note bears the signatures of
a) RBI Governor b) Prime Minister
c) Finance Minister d) Secretary, Ministry of Finance
2WOTD TRTDOW JREESTA, T ToBITRT 03TV ?
a) RBl n=seo* b) &, 3008,
C) TEITIRO W08, d) F0DFTF, BEDTIRO X230

3. At what frequency can banks pay interest on savings bank account as per
RBI guidelines ?

a) Monthly b) Quarterly c) Half yearly d) Yearly
RBI 3 283 ¢330 30631 03ee S@RODY, 23,0800 Hu9TI0 393N 30 R
QBT ?
a) Sonsd b) 8, =R C) SSTFONFT d) soars

4. Right to set off customers account can be exercised only by a
a) Creditors b) Debtors c) Banker d) Customer
Mo, BFCONY 003N WO 3,3, T HF, QerITITO
a) TSI b) OO C) 13,080° d) mo,TFD
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5. The services rendered by a banker as an agent of his customers are

a) Principal services b) Agency services

c) General utility services d) Social services

2.2 QO3RENCIRN 29, 0FTF ToeF WIBON e ReSNTIY DT0T BBODCRNITTS ?

a) 08, Messrisd b) xo:s@ BeSned

C) TOWNT, B, 03eexs Fewdnsd d) m=reeeE BeRSnwd
6. Which of the following is not a public sector bank in India ?

a) Andhra Bank b) Federal Bank

c) IDBI Bank d) Vijaya Bank

QRNTE. A3RHTD POTBTE Tos3F T WLONT 239,080 Q) 2

a) &0, t,05° b) FBT* w005

c) IDBI 23,05° d) DWAIP w3, 0F°

7. With which bank Syndicate Bank merged according to the recent August
2019 merger ?

a) Cooperation Bank b) Canara Bank
c) Vijaya Bank d) Andhra Bank

B e BN, 20198 QST T, 50 20RFets* 13,08 03NS 239, 03IRTS
DDeIRRORT 2

a) ToTpFreseS* 239,080 b) 30 (ADRGLS
C) DOZI 23, 0% d) ©03, 233,080
8. Loans of very small amount given to low income groups is called
a) Cash credit b) Micro credit
c) Simple overdraft d) No frills loan
FRR ST JIRFNYR ZRROT ©8,0 T,TWNET TONR
a) INT WO b) Sdn,e o
c) Xoy ?.oac‘ca"_a)c;?fw d) Jee HT O
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9.

10.

11,

12

Who will settle the grievances of customers of Banks ?

a) RBI b) SBI

c) Local courts d) Ombudsman
239, 08 T2, BTT BOOTD BRTINI, B, FF RREITTTO 03T ?
a) RBI b) SBI

C) %@eo:b 39, 033 0NEL d) t.0wwe¥ 0T’

What will be the impact on the cash reserves of commercial banks if RBI
conducts a sale of securities ?

a) Increase b) Decrease

¢) Remain constant d) Increase or decrease
008e0d> DR 1w, 080 33T3,INY SIRTDEIT, BNRRTT WL, 239, 0BON& I[N
QeFOT BoeeS DO TOTOWITNIZLES ?

a) DOF b) w93

c) RT=NTOZT d) »0F T |Ps

Expand LAF.

a) Liquidity Adjustment Facility b) Liquidity Account Facility
c) Liquidity Allotment Facility d) Long Adjustment Facility
LAF 3 258 GRS

a) @:g:aw eﬁcsﬁd 30083 PAOES b) e.”)ﬁa@w e5B00E3F PAOE3

c) d3@es e9eTOET 003 PRDES d) eoon BR300 FaO
Which of the following bank is not wholly owned by the Government of India ?
a) RBI b) SBI

c) Punjab Bank d) None of these

3PN QG 239, 08> BOEF oM 37903 R5oF BT Q03008, 0089 ?

a) RBI b) SBI

C) 02N 1), 05° d) QRN cSRDTe
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13. Nationalisation of Imperial Bank of India and its conversion into SBI was done

in which year ?

a) 1935 b) 1920 c) 1965 d) 1955

QOLEOO* 20, 0F° &5 polelZTovipin m&,&eﬁdm WOZY AT SBI w003 WTTT BRE

a) 1935 b) 1920 c) 1965 d) 1955
14. Who decides how much quantity of the coins to be minted ?

a) Government of India b) RBI

c) SEBI d) Prime Minister

ORI TEY T, 308 TOTIENRIS) QGOF T RINTITIT ?

a) o038 XFoF T b) RBI

c) SEBI d) &,505:008,

15. All Commercial Banks need to maintain cash, gold and bonds to provide
credit to its customers with themselves is called

a) SLR b) CRR c) Bank rate d) Repo
DY, WL, LI, 0BT T 7, BFOT TO© QETZLV RRoQTLIETIT INTD, 287,
0B 3T, B0DY, FoCINIRNRTIY DOTD FBOPNOITT.

a) SLR b) CRR c) 23,08 TT d) ozpe

16. Who is the first Governor of RBI ?
a) K. A. Narasimhan
c) A. K. Vadia
RBI| 8 300 NSSFO° 03530 ?
a) 8. ». ICROBZ’
C) . 8. ToROD

b) V. K. Malhotra
d) A. B. A. Smith

b) . 3. SR,
d) @. Q. 2.3

17. A cheque is dated 27/01/2022, the due date is
a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022

20T '2,313‘;35 330003 HT00s 27/01/2022 900 NS DT0T

a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022
SPACE FOR ROUGH WORK
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18. Investment of banks in government securities and other approved securities

19.

20.

is categorized at

a) Lending b) SLR investment

¢) Non-SLR investment d) None of the above

HHor 0 L0, 3Med 308 0T wRdEROAHT WE, 3NV, 1, 0BTV TRGE

ARERTE, Lot
a) O Qe b) SLR @p&d
¢) SLR En0zn Teks d) FoeOT CIRRTR Y,

Loans to software industry upto a limit of Rs. are classified as priority

sector advances.
a) 50 Lakhs b) 100 Lakhs c) 1000 Lakhs d) 500 Lakhs

303,03 §Twose Ty TR. Q030D 50, T> OO AT BNE BORVLST.

a) 50 w8 b) 100 &8 c) 1000 w8ris>  d) 500 &Brid

A customer is required to maintain adequate balance in his/her accounts in

card in the merchant establishments.

b) Credit card

order to use his

a) Smart card

c) Add-on credit card d) Debit card

229 70, BT TR, 9,00 FOANTY, WIRLD AOBR), SO 3,
2093030€), BROOTLIER.

a) MEF PEE b) 3t Bor'r

Cc) ST -UT° 3B EF d) BuE’ sr's
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21. As per RBI benchmark allocation of bank credit women beneficiaries should
receive at least % of bank credit.
a) 5 b) 10 c) 15 d) 1
LT8O DII*F 2T, 03T 239, 0B TPW BTETo WRSWORT 3,590 &0
PTOIWINTD % {ADS o mowmq BBo3Iesd.
a) 5 b) 10 c) 15 d) 1

22. What does the letter ‘S’ denote in the term IFSC ?
a) Subscriber b) State c) System d) Source
0.25°.0%°. A, 0D ‘D%’ @aﬂaﬂgt B8RRI ?
a) "R ot b) Bees* c) AR d) Xeex*F

23. Replacement capacity in case of term loan proposals is judged by the banks
with which of the following ratios ?
a) Debt-equity ratio b) Internal rate of return
c) Net present value d) Debt service coverage ratio
ST O T,TBNY TOTTTE T, FI), 23, 08oNeh 83 FINT IR
IROTOBNYOT DEFF CWROT ?
a) WO AL O[T b) ©3030% oyw &8
c) JTH BRY SPY, d) O B W), ST

24, is needed for developing a product in initial stages.
a) Seed capital b) Start up capital
c) Second round financing d) None of these
SO0YE TOZTY, YWSF T c:se;)?g)&;aﬁ &N @ONTTYHTD
a) [P WOBZY b) &,00% wormy
C) AVBSe RET BT d) ARINTO BRFYEH ese)

SPACE FOR ROUGH WORK
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o5 |f the bank rate is increased and all other things being equal it will result in
a) A decline in the cost of credit
b) An increase in the cost of credit
c) No change in the cost of credit
d) Cost of credit has no relationship with demand for borrowing
B30 239,080 TWOBRY, T 2T %&ﬁ@@gﬁ BROTNFT @0 L0
a) OB IBBY avs
b) mor BT T3¢
C) TOT PR DT WRHTH AQ,
d) TOT SRR WOT WeRTRL T0WOTIY,

26. Which of the following is not a function of commercial bank ?
a) Providing project finance
b) Selling mutual funds
c) Deciding policy rates like CRR and SLR
d) Settlement of payments on behalf of customers
BONS 0IRYT LS, 139,08 ToODFIE, ?
a) 03ReRIN TED LWNRIFTO
b) 3T QONS TWTE3
¢) CRR 03 SLR nghog &3 ©T QFFORODT
d) 17o,®8T ST TTENTIY TORSRONT

27. The ability of Commercial Banks to increase their deposits by expanding their
loans and advances is known as
a) Capital expansion b) Credit expansion
c¢) Credit control d) Credit creation
DT, 23D, 08NS BRAS TR, FBY, , AO wF) TN HFTE Tn@ ézsz;‘o@dagt
OINFT ?
a) WOV AT b) mo® HXTH
C) AL AOI0Z, 69 d) mo AERFEs

SPACE FOR ROUGH WORK
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28. Where was the first bank in the country started at ?
a) Jaipur b) Mumbai c) Kolkata d) Pune
RTITY &) T 239, 080 ﬁmﬁmomﬁa ? | 5
a) ¥ JYo* b) o0, c) 8RO

29.

30.

31.

: : i ent of
The three presidency banks were merged in 1921 with the establishment o

a) RBI b) SBI
c) UCO d) Imperial Bank of India

1921 89 B AT 23, 0807med DOeRRROE A TIOIRTS 233,08

a) RBI b) SBI

¢) UCO d) @0&ed03eF 2T, 08° &F* QAORCIR

Which bank had taken over the Imperial Bank of India ?

a) Indian Bank b) SBI

c) RBI d) UCO

oo 239, 080 Q000030 9, 0%° 5° QoBOINT BOTIBFSBIPNG 2
a) [oRHF* 239, 0%° b) SBI

c) RBI d) UCO

In financial planning, higher most option price will lead to

a) Longer option period b) Smaller option period
Cc) Lesser price d) Higher price

BEITOAT OdreFoDE) €98 nog =0l 838 Innrosrs QeRITITO

a) QeFrIH wo:b& X200 b) BRI e:sodaﬁ R00
C) 3B 33 d) d?ﬁ% 33

SPACE FOR ROUGH WORK
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32. What happens if a crossed cheque is presented for payment ¥

a) It can be paid only through a banker

b) It cannot be paid at all

c) It can be paid in another bank

d) Anyone can draw the money

LWOT FeS T, X° aés‘ab TR LITRATT DJMOIT ?
a) w,08C° ams —awé’mw DI

b) maéﬁmm@de =10}

c) Wed 3, 05°IY, TOWSRWIT

d) 03T WeFTTR BEd TREODWIOTD

CS - 546

33. In NEFT ‘E’ stands for
a) Electric b) Electronic c) Elevation d) Eligible
NEFT 8§ E’ ), ARWRIBT.
a) aGEF b) adFRE C) NO[eRT* d) QOBWS*
34. CRD s
a) Expenditure b) Cash c) Capital d) Accounting
CRD 020000 .
a) 3%, b) SRz C) WOBY d) Jwms
35. _ islIndia’s first original Bank.
a) PNB b) RBI c) SBI d) UCO
. ARl SR Ao o) TBATO R 23, 0B.
a) PNB b) RBI c) SBI d) UCO
36. Offshore VCs are promoted by and financial institutions.
a) Foreign banks b) Private banks
c) State banks d) None of these
FBDWECD VC nshd Seazomd n@ NsL TR 0T evBeineedss.
a) ATed 239, 0BOTED b) s39%A w».08n%d i o
c) oo, mowmﬂ\ d) sIned. a:'ma@cira e

SPACE FOR ROUGH WORK
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39.

40.
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Venture capital firms are usually organised as
b) Limited partnerships

a) Closed-end mutual funds
d) Non profit business

c) Corporations
TOTX WOBTTY ::*oﬁ@ri%b mmaﬂmﬂ wﬁaja;ﬁmo&da@cﬁowd
a) S0UYT-8RS TOIT QML b) &0F ToeOTROE

C) ToZperdess® d) RPSQE &,&EH0

Who is authorized to issue coins in India ?
a) RBI b) Ministry of Finance
¢) SBl d) None of these

PP0ITY. ©ET 3N mméﬁ@@t WBONEG SEIERTO 0353 ?
a) RTS8 OITF 1, 0% b) BeazoRd 00T, ©OI
C) &7a08ead> Feex o o d) ARNYY ARJTR B,

With the recent merger of banks in August 2019 how many public sector
banks will be there in India ?

a) 12 b) 19 c) 20 d) 14

B €28 ©NA7 2019 T 23, 0801¢ DOeST §03T, LPTZHE). T TTFLWIT TOOT
239, 0BONYTOZS ?
a) 12

Which of the following is not an organised sector in India ?

a) Nationalised Banks b) Regional Rural Banks
c) Co-operative Banks d) Chits and money lenders

FINTINTY, IR 4T3, TTAT BOODTY, ?
b) 9,538 o oeed 239, 08OMEH

d) WD B Seemdermooad

b) 19 c) 20 d) 14

a) To2y£8)3 239, 08N
C) ABTO 23, OB

SPACE FOR ROUGH WORK
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PART - B
N -

Answer all questions. Each question carries two marks : (15x2=30)
QR T,I NI, LVZ0A. T,8040000 BB 1K QTR 508N :

41. Bank pays interest on

a) Deposits b) Loans

c) Both a) and b) d) None of the above

239, 0B0THD TT e WBNII, QPRI

a) BTN b) monw

C) a) &) b) ATER d) S0edT CBRJTR €
42. Expand PAN.

a) Primary Account Number b) Permanent Account Number

c) Both a) and b) d) None of the above

PAN 23 8 ce

a) 3,300 e5890E3° Foeo? b) BgSoex egRoL Jowo

c) a) &3 b) ATER d) S0edT IR e
43. Bank passbook issued by

a) Banks b) Indegenous banker

c) Both a) and b) d) None of the above

139, 05° X" @*gﬁ;@t BRTIDDT

a) 3,087 b) Zedeodd 239, 08TTL

C) a) 3 b) ATRER d) B0ed8 BRPER 9.
44. 100 Rupee note is signed by

a) Prime Minister b) Finance Minister

c) RBI Governor d) Chief Minister

100 tezmeo deetss Soed odnd X o3 92

a) I,ToFa0E, b) Teazoxd 008,

c) RBI n=sFo* d) W00,

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

49.

546

Bank does not give loan against
a) Gold ornaments
c) Lottery ticket

LT

b) LIC Policy
d) NSC

L3R, 0BONED VBT S8 Roees TONYR), VRO,

a) 2333 5230 eansty
Cc) UD&BD e35e3¢

Banks does not provide loans for
a) Crop loans
c) Home loans

232, 0B facdﬁ PSpI i;aab@a@
a) 23%9 LpI9)
C) NS To

State Bank of India is a

a) Public Sector Bank

c) Joint Sector Bank

New‘ W9, 0F° &3¢ Q08030 2,03
a) waﬁr&s&ﬂ mxmd 239, 080

C) %088 oo 239,080

RTGs is managed by

a) SBI

c) State Government

RTG H@aﬂg{ ODFBES IR
a) SBI

C) epi) ps1.plae)

SEBI is

a) Regulatory Authority
c) Both a) and b)

A% (SEBI) 2,00

a) Q030369 T, HTT
C) a) &3> b) A0RR

b) LIC oA
d) NSC

b) Education loans
d) Gambling

b) 33£ To©
d) e

b) Private Sector Bank
d) Non-nationalised Bank

b) 593 S0z 239, 08D
d) Tody (3 3503 AN oﬁo

b) RBI
d) Central Government

b) RBI
d) 3eom, BEorg

b) Statutory Authority
d) None of these

b) 38053 5,
d) aRnee” 2 OIRTIT ese)

SPACE FOR ROUGH WORK
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50.

51.

52.

53.

54.

55.

Bank provides loan.

a) Home b) Car c) Education  d) All of the above
WO WO AWIT.

a) n® b) %00 c) &8 d) S0eIT QR
Which type of deposits earns higher interest rate ?

a) Current account b) Savings account

c) Fixed deposits d) None of the above

O BeTeIED TU W FONTTY neRTS ?

a) 30 093 b) eVPBO 008

C) D@Fa‘gj ol d) 0O cIRR)TI O,
Maximum tenure of fixed deposit is

a) 5 Years b) 7 Years c) 8 Years d) 10 Years
=R Besedod NoF WY QT ?

a) 5 J/ened b) 7 IRFNO C) 8 [JFNO d) 10 SRFNWD
Which is Government Bank ?

a) RBI b) SBI c) HDFC d) ICICI

1Dl eIARAD) 03> 03RO ?

a) RBI b) SBI c) HDFC d) ICICI
Which is the largest commercial bank in India ?

a) Bank of India b) Axis bank

c) SBI d) HDFC

ROITE), 58 TRT woedE 1908 o3RO ?

a) w05 e350° QOBOIR b) e53%° 233,08

c) SBI d) HDFC

When did the NABARD establish ?

a) July 1982 b) July 1969 ¢) June 1951 d) June 1961
NABARD m%aéodmdd%

a) w2 1982 b) =0 1969 c) mRaf 1951  d) wes 1961
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